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Lesson 6 – Quiz Questions 

opener’s new suit rebids with a stronger 

hand & responder’s rebids showing 

preference 
 
1.  You Open 1♦.  Your partner responds 1 ♠.   

What do you now bid with the following hands?  

 

 

 

  e) ♠  Q J           f)   ♠  A 8   

      ♥  8 7                                               ♥  Q T 9                             

      ♦  A K Q 8 5                        ♦  K Q T 8 7 5            

      ♣  A K 9 5                 ♣  A J 

   

     

2a If the bidding goes: 

 Opener Responder   

 1♥  1♠   

 2♦ 

 Describe what you know about Opener’s hand. 

 

. 

 

2b If the bidding goes: 

 Opener Responder   

 1♦  1♠   

 2♥ 

 Describe what you know about Opener’s hand 

 

 

2c What’s the notable difference between Opener’s rebids in 2a and  2b? 

 

 

a  ♠  J T 9   b)  ♠  A Q 9 3 c) ♠ A 3 2        d) ♠  Q J T 4 

     ♥  A 3   ♥  9   ♥  K T 9 4  ♥  A 3 

     ♦  A K Q J 9 8               ♦  A K Q T 7 6  ♦  A K T 5 4  ♦  K Q T 5 4 

     ♣  A 9               ♣  A 9   ♣  4   ♣  K Q 9 
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3.  In the following auctions, is the last bid shown forcing? I.e. can responder pass or must 

he make a rebid? 

 

 Opener        Responder 

a) 1♣              1♦              

 1♠              ?                

 

 

b) 1♣               1♦ 

 3♣               ?                

 

 

c) 1♥          1♠                

 2♣             ?   

 

 

d) 1♠         2♦     

 3♥         ?                

 

 

e) 1♥         2♦     

 2♠         ?                

 
 
4. What can you tell from the following two bidding sequences about Responder’s HCP 
 range and therefore Opener’s HCP range? 

 
a) Opener Responder  b) Opener Responder 

 1♥          1♠                  1♥          2♦                

 3♣                3♣              

 
 
5. Write out a bidding sequence that shows Opener’s rebid showing: 
 

a) A non-forcing 3 level rebid 
 Opener Responder 

 1♣  1♠ 

 ? 
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b) A ‘jump shift’ rebid at the 3 level 

 Opener Responder 

 1♣  1♠ 

 ? 
 

 
c) A ‘reverse’ rebid 
 Opener  Responder 

 1♣  1♠ 

 ? 
 
 
 
 
6. What are the guidelines for Opener holding the dreaded 4,4,4,1 hand? 
  
 


